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Run 4570 quartetwise, Asyms0 (Raw): All
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Run 4570 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 4570 quartetwise, Asyms0 (Raw): Beam OFF

quanebwise beamd_asyml
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Run 4570 quartetwise, Asyms( (Raw): Beam ON, Laser OFF
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Run 4570 quartetwise, Diffs0: All Run 4570 quartetwise, Diffs0: Beam OFF
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Run 4570 quartetwise, Diffs0: Beam ON, Laser ON Run 4570 quartetwise, Diffs0: Beam ON, Laser OFF
quanebwise_beaml_las? ot quanebwise_beami_last diif
1400 — Eniries 36577 2000 — Entries 51208
B Mean -0.05996 — Mean 0.04666
- td Dev 0.3234 1800 — Std Dev 0.2704
B 1600 —
1000 — 1400 —
800 [ 1200 :—
— 1000 —
600 — 800
400 — 600 [—
B 400 —
200 — —
- 200 —
ID—llLI AR R N N NN T T T N Y N TN T TN AN T Y e = N PR N B D:"J—' AR I N TR NN NN A SN NN TR SO N B |1
-1.5 —1 0.5 0 0.5 1 —1 -0.5 0 0.5 1

PosHelAccO/PosHelNSamples( - NegHelAccO/NegHelNSampleso PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSamplesD



Run 4570 quartetwise, NegHelAccO/NSamples0: All
quartetwize_negHQ
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Run 4570 quartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON
guanstwisa baami las! nagHD
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Run 4570 quartetwise, NegHelAcc0/NSamplesQ: Beam OFF
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Run 4570 quartetwise, NegHselAcclVNSamples: Beam ON, Laser OFF
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Run 4570 quartetwise, PosHelAccO/NSamplesO: All Run 4570 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 4570 guartetwise, PosHelAccD/NSamples0: Beam ON, Laser ON Run 4570 guartetwise, PosHelAccO/NSamplesO: Beam ON, Laser OFF
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Run 4570 quartetwise, Sums0: All Run 4570 quartetwise, Sums0: Beam OFF
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Run 4570 quartetwise, Sums0: Beam ON, Laser ON Run 4570 quartetwise, Sums0: Beam ON, Laser OFF
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